CTP-E48BSX
CTP-E54BSX
CTP-E60BSX



ZEPHR Trapeze

CTP-E48BSX, CTP-E54BSX, CTP-E60BSX

Ref # Part # Description Qty
1 54100012 Bracket, Ceiling 1
2 54120013 Bracket, Angle Set, Short 2
2-1 54120014 Bracket, Angle, Short (A) 2
2-2 54120015 Bracket, Angle, Short (B) 2
3 54120016 Bracket, Angle Set, Long 2
3-1 54120017 Bracket, Angle, Long (A) 2
3-2 54120018 Bracket, Angle, Long (B) 2
4 50500146 Assembly, Duct Covers 1
4-1 50050149 Duct Cover, Upper 1
4-2 50050150 Duct Cover, Lower 1
5 54050072 Coupler, Telescopic Rod 8
6 50500147 Telescopic Rod Set 4
6-1 50330008 Telescopic Rod, Upper 4
6-2 50330009 Telescopic Rod, Lower 4
7 54050050 Collar, 8" Round 1
8 56210062 Cover, Electrical Box 1
9 11030090 Wiring, Electrical 1
10 54200018 Box, Electrical 1
11 11030091 Wiring, Remote Blower 1
12 54050079 Flange, Remote Blower 1
13 56100021 Blower Housing 1
14 50300111 Canopy (48") 1
14 50300112 Canopy (54") 1
14 50300113 Canopy (60") 1
15 50320036 Utensil Rail (48") 2
15 50320037 Utensil Rail (54") 2
15 50320038 Utensil Rail (60") 2
17 56200079 Box, Component, Small 1
18 11010058 Control Board, LED Light 1
19 56210065 Cover, Component Box, Small 1
20 56200051 Box, Component, Large 1
21 11010057 Control Board, Main 1
22 52170053 Cover, Component Box, Large 1
23 54140170 Bracket, Switch 1
24 11000087 Switch Assembly 1
24-1 54190042 Plate, Switch 1



24-2
24-3
24-4
24-5
24-6
25

26

27

28

29

30
30-1
30-2
30-3
30-4
30-5
30-6
30-7
30-8
30-9
30-10
30-11
30-12

30-13
NOV23.0201

52170033
11010035
52110015
50400009
56210049
50110138
50170057
Z0B0064

50180004
50210022
05000098
56170001
54050054
01070010
01090003
01080002
01070025
01060011
02170009
01070026
01070027
00100014
15000002
01650001

Housing, Switch
Switch Board
Membrane, Switch
Button, Switch
Cover, Switch
Panel, Light
Housing, Light
Bulb, LED, 6W
Clip, Light

Filter, Baffle
Hardware Packet
Zip Tie

Zip Tie Holder
Screw, M4 x 8mm
Screw, M6 x 2in
Washer

Screw, M4 x 1 1/2in

Screw, M3 x 6mm
Lock Washer

Screw, M4 x 8mm

Set Screw, M4 x 4mm

Allen Wrench
Wire Nuts
Screw, 3/16 x 3/8

N R, N DA DA DN R R R R R



	CTP-ExxBSX
	xCTP-ExxBSX
	CTP #'s


